Japic 9. TanceipMagan MoH KaiiTapy. AFbIHIQPMEH jKOHE TallChIpMaiapMeH KYMbICTa
ajlactamanapzbl OHJIEY.

Mpbicaa 1. TancpipMagaH MIH KailTapy

using System;

using System.Threading;

using System.Threading.Tasks;
class DemoTask

{

static bool MyTask()

{
return true;

}

static int Sumlt(object v)

{
int x = (int)v;
int sum = 0;
for (; x > 0; x--)

sum += Xx;

return sum;

}

static void Main()

{
Console.WritelLine("Herusru arbiH ucke Kocbingpl.");
Task<bool> tsk = Task<bool>.Factory.StartNew(MyTask);
Console.WritelLine("MyTask TancbipMacbiHbiH aTKapbiny HaTuxecu: " + tsk.Result);
Task<int> tsk2 = Task<int>.Factory.StartNew(Sumlt, 3);
Console.WritelLine("Sumlt TancblpMacbHbIH aTKapblly HaTuxecu: " + tsk2.Result);
tsk.Dispose();
tsk2.Dispose();
Console.WritelLine("Herusru arbviH aakTangb.");

}

}

Mpuican 2. Tancelpmaoan 6ac mapmy

using System;
using System.Threading;
using System.Threading.Tasks;

class DemoCancelTask

{

// Tancelpma peTiHAe opbHAANaTbH d4ic
static void MyTask(Object ct)
{
CancellationToken cancelTok = (CancellationToken)ct;
// TancblpmaHbl icke KocygAplH anfbHAa ofaH 6ac TapTbUlFaHblH Tekcepy
cancelTok.ThrowIfCancellationRequested();
Console.WritelLine("MyTask() ucke kocbingbl");
for (int count = ©; count < 10; count++)
{
// TancelpmagaH 6ac TapTbUIFaHblH 6akpliay ywiH cypacTelpy Tacini konpadbliagbl
if (cancelTok.IsCancellationRequested)



Console.WritelLine("TancelpmMaHbl Xowra cypaHbic TycTu");
cancelTok.ThrowIfCancellationRequested();

}

Thread.Sleep(500);

Console.WriteLine("MyTask() agucuHAEru caHaybil MaHu:

n

+ count);
}

Console.WritelLine("MyTask askTangb");

}

static void Main()
{
Console.WritelLine("Herusru arbiH ucke kocbngb");
// TancblpmagaH 6ac TapTy 6enrinepiHiH ke3iH Kkypy
CancellationTokenSource cancelTokSrc = new CancellationTokenSource();
// TancblpmaHbl icke Kocy, TancbipmMara xdHe Aeneratka 6ac TapTy benriciH bepy
Task tsk = Task.Factory.StartNew(MyTask, cancelTokSrc.Token,
cancelTokSrc.Token);
// TancblpMaHblH Kywi XoWbinFaHfa AediH opbiHAanybHa MymKiHAik 6epy
Thread.Sleep(2000);
try
{
// TancblpMaHblH OpbliHAANYbIHAH 6ac TapTy
cancelTokSrc.Cancel();
// tsk Tancelpmacekl aakTanfaHfa geiiH Main() apiciHiH opbHAaanybH KigipTy
tsk.Wait();

}
catch (AggregateException exc)

if (tsk.IsCanceled)
Console.WriteLine("\ntsk TancelpmacbiHbH OpblHAANYbIHAH 6ac TapTy\n");
Console.WritelLine(exc);

}
finally
{
tsk.Dispose();
cancelTokSrc.Dispose();
}

Console.WritelLine("Herusru arviH aakTangbl.");

Meican 2. AFbIHHAH )KYMBICBIH TOKTaTy Ke31HJIEr ajacTama
using System;

using System.Threading;

class MyThread {

public Thread Thrd;

public MyThread(string name) {

Thrd = new Thread(this.Run);

Thrd.Name = name;

Thrd.Start();

}

Il ArpiaFa Kipy HYKTECI.

void Run() {

try {

Console.WriteLine(Thrd.Name + " 6acranusr.");
for (int i=1;i<=1000; i++) {
Console.Write(i+" ");

if((i%210)==0) {

Console.WriteLine();



Thread.Sleep(250);

¥
¥

Console.WriteLine(Thrd.Name + " kaibInTe! askraaisl.");
} catch(Thread AbortException exc) {
Console.WriteLine(" Arbia TOKTaTBUIIBI, asiKTay KOJbI " + eXC.ExceptionState);

3}

k
class UseAltAbort {

static void Main() {

MyThread mtl = new MyThread(" Arbiu 1");

Thread.Sleep(1000); // TybIHABI aFBIHHBIH )KYMBICBIHA PYKCAT OEpy
Console.WriteLine(" Arbiabl TOKTATY.");

mt1.Thrd.Abort (100);
mt1.Thrd.Join(); // aFeIH TOKTATBLTYBIH KYTY
Console.WriteLine("Heri3ri arblH TOKTaThLIIBL.");

s

Mpbican 3. AFbIH KYMBICBIHAAFbI 271aCTAMaHbI CITCI3 OHIEeY
class Program

{
public static void Main()
{
try
{
new Thread(Go).Start();
}
catch (Exception)
{
// Byn kop opbHAaNManabl
Console.WriteLine("AnacTtama!");
}
}
static void Go() { throw null; } // NullReferenceException
}

Mpbican 4. AFbIH )KYMBICBIH/IAFBI J1aCTAMAaHbI COTTI OH/IEY

class Program

{
public static void Main()
{
new Thread(Go).Start();
}
static void Go()
{
try
{
//...
throw null; // NullReferenceException
/] ...
}
catch (Exception)
{
// anacTama eHiey apekeTTepi
Console.WriteLine("Alastama!");
}
}



Meican 5. TanceipMa anacramanapbiH ©HIEY
static void Main()

{
Task task = Task.Run(() => { throw null; });
try
{
task.Wait();
}
catch (AggregateException aex)
if (aex.InnerException is NullReferenceException)
Console.WriteLine("Null!");
else
throw;
}
}

Mpeican 6. Tarceipmaian 6ac TapTyIbIH Tarbl Oip MBICAITBI

class Program
{
static void Main()
{
var cts = new CancellationTokenSource();
CancellationToken token = cts.Token;
cts.CancelAfter(500);

Task task = Task.Factory.StartNew(() =>

{
Thread.Sleep(1000);

token.ThrowIfCancellationRequested();
}, token);

try { task.Wait(); }
catch (AggregateException ex)

Console.WritelLine(ex.InnerException is TaskCanceledException);
// a subclass of OperationCanceledException.
Console.WritelLine(task.IsCanceled);
Console.WritelLine(task.Status); // Canceled

Mbicaa 7. Parent-Child 6aitiiansicsl
static void Main()
{
Task parent = Task.Factory.StartNew(() =>
{
Console.WriteLine("I am a parent");
Task.Factory.StartNew(() => // Detached task
{

Console.WriteLine("I am detached");
})s
Task.Factory.StartNew(() => // Child task
{

Console.WriteLine("I am a child");
}, TaskCreationOptions.AttachedToParent);

});
parent.Wait();



static void Main()
{
TaskCreationOptions atp = TaskCreationOptions.AttachedToParent;
var parent = Task.Factory.StartNew(() =>

{
Task.Factory.StartNew(() => // Child

{
Task.Factory.StartNew(() => { throw null; }, atp); // Grandchild
}, atp);
1)
// The following call throws a NullReferenceException (wrapped
// in nested AggregateExceptions):
parent.Wait();

Mpicau 8. BacTbl TanchbIpMaHbIH JKaJIFAChHI

static void Main()
{
TaskCreationOptions atp = TaskCreationOptions.AttachedToParent;
Task.Factory.StartNew(() =>

{
Task.Factory.StartNew(() => { throw null; }, atp);
Task.Factory.StartNew(() => { throw null; }, atp);
Task.Factory.StartNew(() => { throw null; }, atp);
})

.ContinueWith(p => Console.WriteLine(p.Exception),
TaskContinuationOptions.OnlyOnFaulted);
Console.ReadKey();

Mbican 9. AggregateException enaey
class Program

{

static void Main()
{
var parent = Task.Factory.StartNew(() =>
{
// We'll throw 3 exceptions at once using 3 child tasks:
int[] numbers = { 0 };
var childFactory = new TaskFactory
(TaskCreationOptions.AttachedToParent, TaskContinuationOptions.None);
childFactory.StartNew(() => 5 / numbers[@]); // Division by zero
childFactory.StartNew(() => numbers[1]); // Index out of range
childFactory.StartNew(() => { throw null; }); // Null reference
});
try { parent.Wait(); }
catch (AggregateException aex)

{
aex.Flatten().Handle(ex =>

{

if (ex is DivideByZeroException)

{

Console.WritelLine("Divide by zero");



return true;

}

if (ex is IndexOutOfRangeException)

{
Console.WritelLine("Index out of range");
return true;

}

return false; // All other exceptions will get rethrown

s



